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JOD-20/PGT-ECO /i
l l SECTION - A
:i i) General Awareness

1
l 1. Forwhich of the following disciplines
is Nobel Prize awarded 7

5. Goa Shipyard Limited (GSL) was

established In
(A) Physics and Chemistry

(A) 1958 {8y 1957
(B) Physiology or Medicine (©) 1956 (D) 1955
(C) Literature, Peace and Economics
(D) All of the above 6. Black soil are best suited for the

cultivation of
2. The{argest river in India is

{A) Cotton
(A) Yamuna (B) Rice
(B) Kaveri (C) Cereals
(C) Ganga

(B} Sugar cane
(D} Brahmaputra

7. First Intemational Peace Congress

3. Eachyear World Red Cross and Red \was heldin Landon in
Crescent Day |s celebrated on (A} 1564 AD
(A} May8 (B) 1708 AD
{B) May 18 (C) 1843 AD
(D) June 18
8. India's first atomic reactor was
4. "One People;, One State, One Leadar” (A) Zedlina (BY Dhruva
was the policy of (©) ‘Apkaia (D) Karmini
(A) Stalin
h h
(B) Hitler 8. ﬂaw rany players are there on fa:
side in the game of Basketball
(C) Lanin (A} 4 @) 5
(D) Mussolini (C) 6 (0N
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, (C) wH (A) 4 (B) 5
(D) T (C] 6 D) 7
As 5

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

1




—————
e

e

10.

11,

12.

T3

14,

15.

India has

(A) largest turmeric production
(B) largest tea production

(C) largest ginger production
(D) all of the above

Logarithm tables were invented by
1A) John Napier

(B) John Doe

(C) John Harrison

(D) John Douglas

K. 8. Rarijit Singhji was

(A} first Bar-at-Law

(B} first Air Marshal

(C) first Indian Test Cricketer
(D) first Field Marshal

Shankaracharya was the founder of
(A) Buddhism

(B) Jainism

(C} Arya Samaj

(D) Advaitic Philosaphy

Where |s the Railway Staff College
located ?

(A) Pune
(B) Allahabad
{C) Vadodara
(D}  Delhj

The Rath Yatra at Puri s celebrated
in henaur of which Hindu deity 7

(A) Ram (B) Jaganath
(C) Shiva {D) Vishnu

16.

i

18.

19.

20.
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Kalchakra caremony is associated

with which of the following
ceremonies 7

{A) Hinduism (B) Buddhism
(C} Jainism (D) lIslam

Who is the father of English Poatry 7
(A) Milton

(B) Wordsworth

(C) Chaucer

{D) Charles Dickens

The television serial ‘Charitrahean’ is
based on the famous novel of which
of the following authors ?

(A} Rabindranath Tagore

(B} Sharat Chandra Chattopadhyaya
(C) Tara Shankar Bandhopadhya
(D) Bankim Chandra Chatterji

In Haryana, a Gram Sabha consists of

(A) Elected members of Village
Panchayat

(B) Members of Panchayat Samiti

[C) Registered voters of the village/
villages in the panchayat circle

(D) Al residents of the villagevillagars
in the panchayat circle

Who was the founder of Swarajya
Party 7

(A) Madan Mohan Malviya

(B) Moti Lal Nehru

(C) Rajendra Prasad

(D) Lala Lajpat Roy
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(D) Fwtash

(A) =i A
(B) MBI

(C) FR#iEA
(D) = =TeE

¥ wm. ik Bl o
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(D) faem
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it} i) General Intelligence and Reasoning Ability
18 : .
:l 1 21. ‘Bangles'isforhandinthesameway | pjrections for Q. No. 25 to 27 : Each
; AARHEES 1. T0r probiem consists of three statements. Based
N
(A) i on the first two statemenis, the thirg
i
i Eingers statement may be frug, false or uncertain.
(C} Nose
(D} Foot 25, Atocothpick is uselful,

22, - Here are some words translated from Usaful things are valuabie.

an artificial language A toothpick is valuable:
paslligen means basketball court If the first two statements are true, the
third statement is
ligenstrisi means courtroom
! (A] true
oltaganti means placemsant st
(B) false

Which word could mean "guestroom 7™
(€] uncartain

{A) pesistrisi
(B) wvoselstrsi (D) certain
(C) gantipesl

26. The Kingston Mall has more stores

Dy oltastns
(L J than the Galleria,

Directions for Q. No. 23 and 24 : Each The Four Comers Maill has fewer
question has an underlined word followed stores than the Gallasia,

by four answer choices. You will choose the
word thal is a necessary part of the
underlined word,

The Kingston Mall has more stores
than the Four Comers Mall.

If the first two statements are true, tha

el third statamean is
(A) picturs (B) image
(A) ftrue
(C) mimeaograph (0} copler
[B) false
24. Pain {C) uncertain
(A) cut {B) burmn (D) cartain
{C) nuisance (D) hurt
A B
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(A} peslstrisi

(B) vosefstris

(C) gantipes!

(D) oltastns)
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27. Al the twlips in Zog's garden are
white,

All the pansias in Z08's garden are
yelow:,

All the flowers in Zoe's garden are
either white or yellow,

It the first two statements are frue, the
third statement is

(A} true

(B) faise

(C)  uncerain
(D) certain

28, Arrange the following in a mean ingful
sequence
1.  Elephant
2. Cat
3. Mosquito
4. Tiger
2. Whale
(A) 183542
(B) 25143
(C) 32415

(D) 531,24

A=
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29.  Arrange the following in a meaningful

sequente

1, Key

2, Door

3 Lock

4 Room

5. Switch on
(A) 12345
(B) 13245
€) 42153
(0] 51243

Directions for q. No. 30 and 31 : | each
senes, look for tha degree and direction of
change betwaen thg numbers. in other

words, do the numbers INCrease ordecreass
and by how muech 2

30, Look at this sefies ' 8, 22 g 28, ey
What number should come next 7
(&) 9 (B) 23
(€ 3z (D) 234

31.  Lookatthis series 131, 29, 24,2217, ...
What number should come naxt 7

(A) 15 (B) 14
(C) 13 (D) 12




27. ﬁﬁmﬁ#mﬁ:ﬁmﬁa% |

1% = F Al st TE R

3y e B g T A R A

21

aﬁ:ﬁéﬁmmﬁ?,ﬁwﬂﬁﬂw

q, W
4. =M™
5w
(A} 1,8,5472
(B) 251,473
(C) 42 41,5

(O 58,124

hn

B

JDD-20/P GT-ECO /X-14

g, P syefogof 5w H A |
1, =M
7 EEE
3, el
5, AT
g fEEEET
(A 1,2,3,4,2
(B) 1.3.2.45
©y 42153

D) 51,243
£ (9.5, g0 A 31) :

T ST ﬁ}ﬁﬂaﬁéﬁﬁ'ﬂ%ﬁamﬁ&"mm
37 g AL 2 S | AT w1,
el A ST B o F @

AT
a0 YrEen 8, 22 g, 28, B, « A

g AT ¢
(A} © (@) 29
(c) 32 (D) 34

= fo

a4, s 81, 29, 24, 2= {7.... B S
ST R

15 By 14

(cy 13 (o) 12
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i S
Directions for Q. No. 32 to 35 : Look 36. Which word does not belong with
carefully for the pattern and then choose the others 7
which pair of numbeérs comes next. (A) couch

32. Look atthis series: VI, 10. V. o O e (5} g

12, I, ... What number should fill the (C) 1table
blank 7 \D)  chair
Ay N
(A) 37. 18:30:36:7
(B) IV
(A) 54 (B) B2
(S} IX
(C) B4 (B} B6
™ 14
o i I - O TR
33. Look at this series : (1/9), (1/3), 1, {A) 3 (B) 4
z « 9, . What number should fill ECJ' 5 {D:I 51
the blank ?
(A) (29) B 3 39, 3:243:;:5:7
2 & Dy 27 (A) 425
_ (B) 485
4. Look at this serles : 83, 73, B3, 63, ;
98,43, ... What number should il (C) 546
the hlank 2 (D) 3125
(A) 33
E[g'ii ?2 Direction for G.No. 40 : Choose that sat of
ki e numbers from the four alternative sels, that
is similar to the given set,
35, Look at this series - 72,76, 73 77,
74, _ 75, ... What number should fill 40, (1.8.27)
the blank 7
(A 70 (A) (5 12, 32)
(8) 71 (B) (32,39, 59)
E ;g (C) (60,79, 8B)
(D) (64,125, 216)
As 2-
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Mo (ow. 329 35) : i s s IEy 95 FEmEE AN D ek

R 33Tt wEn S = waw it | (A)
32 FET VIOV, 1. 2. i) W
fie T W St e A 7 ) frq
Yl ©) T
B IV 37. 18:30:136:7
(C) IX (&) 54 (B) &2
(D) 14 (C) &4 (D) 66
33, @S{19), (13), 1, 8, A 38, FTI52E 7
it gk ") 3 ® 4
(A) (243) (B) 3 {C) 5 (D) 51
(C) 6 (D) 27
39, 3:243:56:7
34, WETI83,73,93,63,_, 93,43 .. (A) 425
Rt SN (B) 465
a3 (C) 546
g (D) 3125
(C) 73
(D) 93 f2m (o35 40) : T2 8 o aen age A
faem o, Becdt w8 =g fifan |
35, TE172, 76,73, 77.74, __, 75, .. 1
fia s T s e 40. 11,8.27)
(A) 7O (A) (5,12, 32)
(B) 71 (B) (32, 39,59
(Cy 75 (C) (80,79, 86)
(D} 78 (D) (64, 125, 218)
A 43
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42.

43

44

45,
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lit} Arithmetical and Numerical Ability

The length of a rectangular plot is
20 metres more than its breadth, If the
cost of fencing the plot & 28.50 per
metre is Rs, 5,300, what is the length
of the plot in metres 7

(A} 14

(B) 50

(C) 120

(D) MNone of these

A library has an average of 510 visitors
on Sundays and 240 on other days,
The average number of visitors per
day in a month of 30 days baginning
with a Sunday is
(A) 250

(C) 280

(B) 276
(D) 285

The difference between simple
interest and compound on Rs. 1,200
for one year at 10% per annum
reckoned hall-yearly is

(A) Rs.2.50
(B) Rs.3
(C) Rs.3.75
(D) Rs. 4

The angle of elevation of the sun,
when the length of the shadow of a
tree is root of 3 times the haight of the
tree, is

(A) 30 degree

(B) 45 degree

{€) 80 degree

{B) 90 degree

How many prime numbers are less
than 50 7

(A) 16
(C) 14

(B)
(D)

15
18

48,

47.

40,

Rajeev buys good worth Rs. 6,650,
He gets a rebate of 6% on it. After
getting the rebale, he pays sales tax
@ 10%. Find the amount he will have
io pay for the goods.

{A) Rs. 6876.10

(B} Rs.5,899.20

(C) Rs. 6,554

(D) Rs. 7.000

In how many differant ways can the
letters of the word 'MATHEMATICS'
be arranged so that the vowsls
always come togsther 7

(A) 10080

(B) 4989600

(C) 120960

(B} None of these

A tap can fill a tank in & hours. After
half the tank is filled, three more
similar iaps are opened. What is the
total time taken to fill the tank
completely 7

(A) 3hrs. 15 min.

{B} 3 hrs, 45 min.

(C) -4 hrs.

(D) 4 hrs. 15 min,

Two cards are drawn together froma
pack of 52 cards, The probability that
one is & spade and one is a heart, is

(A) 320 (B) 29/34
(C) 47/100 (D) 13/102




41.

43, 1,200 %9491 11 10% ST 5L 8 A g
AATE O S e A 1 5 & S =

A

i) TR o= v e g Al

S STTIATERT, S7EVS ol STt S = 1as
3 20 ey afiss 8 | o 30 el &
foa 26.50 . W i@ WA 5300 ¥,
=79 FrAT R A 30 Eve 6 e v
EniR

(A) 14

(B) 50

{C) 120

(D) BAGEFEIE

U wERd A dEAE = 39Ea 510 S
7 30 ¢ S =) 2 8 240 @0 576
2 | Taan § iy ¥ 916 UF BEA 5

ap faai B ufs 9 aheq v BemEm 7
{AY 280 (B) 276
(C) 280 D) 285

40 Tt == | S B
(A) 2.50%. (B) 3%
(C) 3.75%. (D) 4%

¥ UF YT ) WO # TS 39E
S & mmEm e, A
g w1 IeTTH 0 2

(4) 30 f=h (B) 45 fafi
() 60 Tk (D) oo f=h
508 HH FTET foha! ST -HEA & ¢
(A} 18 (B} 15
(C) 14 (D) 18
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47,
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49.
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e 2 | G2 U & 7% 98 10% 5 =)
o T 2 | 30 i % o smA e
Froa

(A} 8.878.10F,

(B) 6.999.20 7%,

{C) 6,654 %,

(D) 7,0007%,

MATHEMATICS ¥ & wai 5 8
A SE R A B B o e e s
=7 forrrt = Aol O aaEn S
R?

(A} 10080

(B) 4988600

(C) 120960

(D) =AE A =S A2

U P17 A U eeht w6 92§ WA =
HEAT Y, | AT 2R A AR, 3 aE
1 i AR Al S EE A e | EHE
2 Zeht ) Wi = o e foea T
= 7

() 3= 15 e

(B) gavz 45 fime

(C) 4=

(D) 4%92 15 Az

v 527 & T 9w 4 27 FEE
w1 8 | 3 A O N W SRS
T =1 A, e EEe g v
(A) 320 (B) 29/34

(C) 471100 (D) 13102
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52

53,

o4,

20,

A person's prasant age Is two-filth of
the age of his mother. Afler 8 years,
he will be one-half of the age of his
mother. How old is the mother at
prasent 7

(A) 32 vyears (B} 38 years
(C) 40 years (D) 48 years

The ratio of two numbears is 3 ' 4 and
their HC.F. Is 4, Their L.C.M, Is
(A) 12 (B) 18
(C) 24 (D) 48

A number consisis of 3 digits whose
sum s 10. The middle digit s equal
to the sum of the other two and the
number will be increased by 93 if its
dinits are reversed. The number s
(A) 145 (B) 253

(C) 370 (D) 352

Two trains are running in opposite
directions with the same speed. if the
length of each train is 120 metras and
they cross each other In 12 seconds,
thenthe speed of each train {in km/hr)
£

(A) 10 (B) 18

{C) 36 (D) 72

Sam purchased 20 dozens of toys at
the rate of Bs. 375 per dozen. He solg
gach one of them at the rata of
Rs. 33. What was his percentage
profit 7

(&) 35 (B) 4.5

(C) 5.6 D) 65

Twonumbersare inthe ratin3:5. 119
|s subtracted from each, the néw
numbers are in the ratio 12 ; 23. The
smaller number 15

(A} 27 (B} 33

(C) 49 (D) 55

AB=

&y

S8.

o8

JDD-20/PGT-ECO Hﬁ?

What is the principal sum 7

i The sum amounts to Bs. 690 in

dyearsatS.l

i, The sum amounts fo Bs, 750 in

SyearsatS.l.
iii, The rate of interestis 5% p.a.
(A) 1and iil only '
(B} 1 and il only
(C) 1andiionly
(D) Any two of the three

Find the ratic in which rice at Rs. 7.20
per kg be mixed with rice at Rs, 5.70
per kg to produce a mixture worth
Rs. B.30 perkg.

(A) 1:3 (B) 2.3

(€} 34 (D) 45

A farmer travelled a distance of 61 km
in'9 hours. He travelied partly on foot
@ 4 km/hr and partly on bicycle
@ 9 km/hr. The distance travelled on
fool is

(A] 14 km (B] 15km
(CG) 18 Km (D) 17 km
A clock is started at noon. By
10 minutes past 5, the hour hand has
turned through

(A) 145° (B) 150°
(C) 155° (D) 160°
How many bricks, each measuring

25 emx 11.25 cmx 6om, will be needad
tohuldawaliof8mxEmx225em?

(A) 5600 (B) 8000
(C) &400 (D} 7200
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50. ﬁﬁﬁﬁ%aﬁnﬂmt&#ﬁﬁ@.

w1 2/5% | 33T % FE I8 I A
1 3 T STRTERT | T W i A

el
(&) 32 (B) a6
(C) 40&M (D) 48794

51, B HERT & 3: 4% | AT
e 1 T, 4 21 39 O HLTE 2T
(A) 12 (B) 16
(C) 24 (D) 48
iy st Tl e & W]
E?% | e e e AT ST 3
<78 % e # 31 3 el F HE
o v 8 =g wE 99§ wed| B |
o
(A) 145
(C) 370 (D) 352

Ty 1 wem TiE | =6 16
?lﬁﬁﬁﬂﬁﬁaﬂﬁﬂﬁlﬁ!mﬁlﬁﬁ
+i7 10 FFE 3 2 WIE F1 TR H El
Mg ea e (B, faea ) 2
(A) 10 (B) 18
(C) 36 o) 72

. @ a7s ¥, W s @ A 20 T
Rl mifiea & | 58 340 33 5. Wi
A F W H dEm | I EA
wfeare # Femm Em 7
(A) 8.5 (BY 4.5
(C) 5.8 (D) 6.5

3 3« 5% wgTa 4 © | 4 A
FTSIT B 8 O FEP ) & A 4 ]
1 A 12 : 23T E | T AT s
2

(A) &7
(C) 49
A

82,

(B) 253

(8) 33
(D) 55
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Iﬁkﬁmﬂ%?

| e wE E 3@ B O 690 .
Ak

| =R EOTe R 5 WE R Wi 750 %
BIATE |

i, AT 5% T 2 |

(Ay HEerl M

(B) SR i S L

(C) e | S il :

(D) TS A

2o %, WA fee wEs i 570 3.

ey T AT =T I e A

Ry £, FEg 6.30 %, Wia Tl

et s A S EEATE |

(A) 13 (B)

(G 34 (D)

213
4:5

= T 61 TR Wl I E 9 HE T
qgr"ﬂ:m%-.aﬁmﬁﬁuw:qféﬁﬁ.f
L o ol R L
T TR e T e | UEE

it Tt i B

Ay 14 T, 1. By 157 11,
(cy 18T, . (o) 17 &= .
o T 1 19 = E [ A
& arer 10 HEZ A T e e S AR
U ST B

(A} 1457 (B) 150°
(C) 155° (Dy 160°

a1fl x T, % 22 58 M, TEh FaR wH
¥ fomos Al x 11,259 Hl. % g4 =
arreh Rae 2 e e

(A} 5B00 (B) 8000
(C) 6400 (0} 7200
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jv) Test of Language : Hindi

wrat e : fE=h
vt @ Frmehl A SIS E T _ sg. i + st Fi AR -
(A) el (B) S () (8} E?L
(C) ¥ (D) ¥R (cy awH (D) =
‘w’mﬂﬂfﬂ'ﬂ'ﬁﬁ% FEneg-70 w3 TR ) T
(A) +F (B) EfH 6y, W + 5B =0
(C) (D) & () diE (B) Fwizh
() arEHEME (D) CHM

wiiir = e w2 7 - =

ST (B) FiEma THLA el R = .
(A) = 4 (A) A (8) feriat
(C) (c) sfauf (D) = EH
s AT T 8 g
(ay e (B) #HPFH (A) T @) T
(C) 74T [} g (c) = (D) TR
Fadt T8 Wi A e 70, ST S SR THIEA HEF
Ay P B W et B | prt
&, T D) FiE (Ay AT (B)
) (Cy =i (D) |
g e e q. i e s R
(&) T T A B (A) wFE= (B) s
(B) 7 g T A | (C) s (o) iR
L O iy il 1 et i ¥ fere Prerferfian 4 3
(D) 7 et T e e A 1
i E (A) g S %
) D
(&) e o = T (C) amnﬂ )
(8) @@iﬁﬁﬁﬂﬂq‘l 75, EaiamTamE? :I -

; gl = et (B) THRW
o e S A DR GEL 0 I
iy v Ty e
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76 — 80 : =0 T |

TR WA o 3o 1A T A - et 3 | T
(EE Tk koo

eres Hoggm a2, 9w et o wEy
T AA-TEE | T S AT F6
YU EAE | =T I 25 5, T 91 geeal
T H gwmw | B & fom Bl s B
AT A6 2], #iew 78 q 0 R
wif W= W ) EEE W R | §HE
¥, ey - a7 5 A 3 A e E |
genusfi s iz f aAnZ a2 TEE |
ZY-18 =1 3 W1 7 fFEwm # | T Em
gugd & s amafs & 91 wre A En-im
=EA R e | - E A, giEeE s Em
o1 s AT A wa SR udean S aEl wE
WHTTEE BN e | U S0 S e, S
Fifian H e 2 &) A= F F=0 T 3w 1E
w ) AErEm A e

76, oE-TH = aiawmE E
(A) 29 % A FHE TE 32
(B) e TEr o 231 ] R A
(C) Tariee = fore o & wad =
(DY =9 % o =l =0 annfEs mam

18-
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=1 29— U

(A) =FrEgE] = e g

(B) TS & 7S A B

(C)  wdten £ =8t o G0 e 2
(0 swlgfanF IR s grEDs

2% -1 5 o7 foRmm E
(A) dtomE
(B) Tt wvum o
(€ wfi ylari
(D) =TT

=5 29 BT 8, 9E & &

(a) TrfEmm i wfinfEm #

(B)  SremR w1 Fremd el

(C) T8 370 =TI oA i
(D) T 3 I d we e B

T Y vef] S HEE] ¥ e 1o
=14 &, AN

(A)
(B)
(Ch
(o

fEr-mamEd amTm e

T 1T T AR F B R
T ol 3T T e e
FF FUETHTE AR BT
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B2

v) Testof Language : English
seprery T TEAOT 3 SO

Change the Passive.: She makes
rakes evary-Suncay.
(Ay Every Sunday cakes made by her.

(B) (Cakes are made by her every
Sunday.

() Cakes make her every Sunday.

(P} Cakes were made by het every
Sunday.

Salect the pair which has the same
relationship

GRAVITY + PULL

(A) ron: metal

(B) nerth pole | directions
(G} magnetism: attraction
(D) dust: desert

Directions for Q. No. 83 and 84 : Choose
tha word which is the exact OPPOSITE of
the given words.

83.

B4

85,

A

VICTORIOUS

(&) Defealed (B} Annexed
(C) Destroyed (D) Vanguizshad
GRACEFUL

(A] Hough (B} Exper
(C) Miserable (D) Awkward

Direct/Indirect Speech @ "Are you

alone, my son 7" ached a soff voICE

close behind me

(A} Asoft volce asked that what | was
doing there alone.

(B) A soft voice aaid (o ma are you
alona san,

(Cy A soft voice fram my back asked {
| was alone.

(D) A solt yoice behind me asked If
| was alone.

Direc

86.

Ba.

89.

\Llatest Sgrkori Jobs, Govt Exam Results
acancies and updates on one click , m

tions for Q. No. B6 and 87 : Complete
the statement.

JDD-20/PGT-ECO /X-8,

The armployer appeared 1o be insuch
an affable mood that Rohit

(A) decided 10 ask lor a raise in his

salary

(B) wasscaredio talk to him about his
lgave

(C) felt wery guilty for his inadverient
slip

(D) promised him that he would not
commit mistake again

He always stammers in public
meefings, but his today's speech

(Ay was fairly audiple to everyone
present in the hall

{B) was not recaived satstactorily
(C) could not b understood properly
(D) was free from that defect

Find the correctly spell words
(A Judicious (B) Cancious
(C) Dilicous (D) Gracous

Find the correctly spelt words
(A) Gauraniee

(B) Guarantee

(C) Garuniee

(D) Guaruntee

A black sheep

(A) ‘An unjucky persan
{8y A lucky persan
(C) Anugly persen
(D) Mone of thase



Directions for Q. No. 91 and 92 : One Word

Substitution, above
91. One whols fond of fighting (A) _H a man diligently seeks to come
- into the contact
{ : [B) with the best that has been thought
(B) Aggressive and said in this ward
(C) Belligarent {C) he will become simple and
(D) Militant unselfish.
(D) noerror
92. A small shop that sells fashionable J
clothes, cosmatics, et. ::ﬂlnl'm:tlmns hfn:'-r Q. No. 96 and 97 : In the
ollowing the guestion choose the word
(A) E‘Eure {8} Stail which best expresses the meaning of the
(C) Boutigue (D) Booth given word.
83. Order the words : This fime 96, ABJECT
P : exactly what he had been toid (A Challenge (B} Miserable
Q : the young man did (C) Deny (D) Disobay
R : beyond his dreams 87. MOVING
S ! and the plan succeeded (A) Taking (8) Toying
The Proper sequence should be (C) Shifting (D) Turning
(A} QPRS EB} QPSR 88. Sonika is quite Intelligent but rather
(C) POSRAH {B) QSHP (A) Idealistic (B) generous
[ la B oplimishc
Directions for Q. No. 94 and 95 : |dantify et ey G ‘o
the arror, 899. Ina litthe-publicised deal, Pepsi, Cola
: _ has _____  the entite soft
94. Solve as per the direction given drink market in Afghanistan.
above, (A) oecupied {B) conguered
(A) No socner did | open the door (C) swallowed (D) captured
B) When the rain, h an :
& Tag i ANy 100. He in wearing the old fashicned
e _ coat inspite of his wile's disapproval,
(C) Mﬂlﬂl‘lg us shiver from heaad to foot {A} insists (B) persists
(D) Mo error (C) desists (D) resists

-21-

95.
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Solve as per the direction given
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101, Concept of permanent consumption
was introduced by
(&) Samuelson
(B} Simon Kuznels
(G} Milton Friedman
(D) Harrod

102. Speculative demand for money is

inversely ralated 1o
(A) Rate of interest
(B} Income

{C) Money supply

(D) Investment

103. 15-LM curve was introduced by
(A) Keynes
(B) Hansen
(€) J.R. Hicks

(D) Paul Samuelson

104. The baok ‘Money, Interest and Price’
wags written by
(A) J.RA. Hicks
(B) D. Patinkin
(C) W, Mitchell
i (D) M. Muller

B

: Latest Sarkari Jobs, Govt Exam Results,
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SECTION -B
Post Specific Subject-related Questions

105

1086,

107.

JDD-20/PGT-ECO J"Ht'_‘l

In Cobb-Dougias production function
elasticity of factor substitution 15
equal to

(A) Zero

(B)  Infinity

{C) One

(D) Two

‘I an oligopolist decreases his price
the rivals will follow”, This isthe basis
assumption of

(A) The Kinked Supply Curve

(B) The Oligopolistic Demand Curve
(C) The Kinked Demand Curve

(D) The Demand Curve

‘Change in guantily demanded’

relers to

(A) Upward shift of the darmand cury

(By Downward shift ol the demar
curve

(G} Movemant on the same demal
curve

{0} None of these




L " Pl

101.

102.

1083.

104.

A=

T -9

e Tt e - g uva

T FEAN o Heea] 354 T
(A) e

(B) HRRH FHAIGH

(C) TrzawEs

(D) FiE

%8 ) wfifas oin wa ofee.
st 2

(A) =T =

(B)
(C) TE s
(D) FEm

HE

|S-LIM 55 36 TR o
(A) T

(B) =N

(C) =90 Ea

(D) Wi Hrg s

(A) =t 3 o
(B) .
(€) z=g. e

(D) ™. HFH
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106.

107,
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FTe-Z2ren F Fouen w21 § e

AT =1 FieTa S5 s AT
Ay A
(B) =
() T

(Dy =

afR v sEgalE S A e E R
ArEEE W A EE T | T
T R

(A) TN AT

(B) rEaf-=g 7 95

(C) TErgsn A wE

(D) wimEH

" o geens § uaee &

(A) =i as w1 =9 6 3 g

(B) i & =1 414 =t v Fame

(C) =¥ Wi a9 Hee

(D) 5 & 18
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108.

108,

110.

Cetens Paribus’ clause in the Law 111,
of Demand does not mean
(A) The price of the commodity does
nol change

The price of its substitutes does rot

change

(B)
(C)  Theincome of the consumer does

not change

112,

(D) The price of complementary goods

does nol change

Aam Admi Bima Yojana provides

social security to

(A) All labours in rural arsas
(B) All landless labours living below
poverty line in rural areas

) 113,

(D)

All labours in urban arsas
All labours in both rural as well ag

urban areas

SEB| was established in
1993
1892

(A)
(B}
(C)
(D)

1988
1990

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click
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A major financial inclusion initiative
named ‘Swabhiman’ was tormally
iaunched on

{A)  February 2010
(B)
(C)

(D)

February 2011
February 2009
February 2008

All internationally traded services are
covered under which of the following
WTC agreements 7

(A) GATS

(B) TRIPS

(C)
(D) PTA

TRIMS

Full employment and balance of
be

in an

payments  equilibrium  will
automatically achieved
eptimum currency area

(4)

(B)

Il exchange rates are fexibls
foreign capital flows into the

country

(C) if labour and capital move fresly

1D} if trade is liberalized



108.

108.

1 110.

Ceteris Paribus A1 Frad 1w #1
T 4 T2l el

(A) T T T wEe

(B) IHH e 5 49 Te e
(C) T S T e Jgeil

(D) ﬂwmmmﬂﬁ_ﬁﬁﬁm
S SrRHT S S T S
U TR O 8

(A) T B o A HEE

By T g H e T A
(C) TVl & % i TAg

(DY s T o wef TR

e (SEBI) T 3 A
(A) 1993
(B) 1992
(©) 1988

(D) 1990
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oo Ty TR SO T A
=1 e w9 § TR T
(&) FE 2010

(B) = 2011

(C) =1 2009

(D) =il 2008

aft sy = e e A A
R WTO B 26 e el 8 7
(A) GATS

(B) TRIPS

(C) TRIMS

(DY PTA

sl w1 @ Fe T A

Erouii

(A) e = e B E

() i e dsh e B

(©) wor ¥ S0 R W W weH
7 8

(D) =TI & ER e AR




114, The

115

116.

117,

nl

Golden Age' model was 118.

developed by
(Al

(B}
(Cy J. R Hicks

Micholas Kaldor
Joan Robinson

D) R.F. Harnod 119.

Neighbiour's curve means

{A) Depression of courry is transterred
tg other

(B) Boom of one country is transferred
to other

(C) Both(A)and (B)

(D) MNone of the above

normal profits are considared as
(A} Explicht costs

(B)
(C)

(D} Privale costs

Implicit costs

Soeial cosis

Froe rider problem is prominent in
case of

() Social goods

(B) Privale goods

(C) Semi-public goods

(D)

None of the above

Latest Sgrkori Jobs, Govt Exam Results,
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121,
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"1’——-E+L+G+LJ{~M}15
(A
(B)
(C)
(D)

An equation
A formula
An identity
A function

If the consumption function is given
by C =20+ 4/4 Y, then the value of

multiplier will be
(A) 43
(C) 4

8y 14
(D} 20

Leverage effectis associated with
(A} Multipiier

(B} Acceleralor

(C) Consumption function

(D) Super multiphar

Which of the following is not correct ?
() D<MPC< 1

(B) D<MP3< i

(G} MPC =1

(D) MPC+ MPS =1

The life cycle hypethesis of
eonsumption function is propounded by
LA
(8)
(C)

Keynes

Dusenberry
Friedman

Ando and Modigliani

{D)




‘gret 1 95 F A

(A) EETe T g A T
(B) ZEh! Al g o TR
() (A3 (B)E

(D) Fw=E AR

6. T AT =5 T AT A

(A) HETE FTA

(B) 3TET #TE
(C) T A
() Tt @

e e T 3w I R

118,

119.

120.

121,

122,
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VY=C4|+G+(X-MTETF
() T R

(B) HF®

(C) TeaRT

(D) wEHE

A e C = 20 + 34 Y TH T
ot T B, 1 T o W E

(Ay 413

(B) 1/4

[C) 4

(D) 20

T I Y R

(D) eI

Pmdd=madadin t
(A) 0<MPC<1

{B) D<=MPS <1
MPC > 1

MPC + MPS =1




123.

124,

125.

126,

‘India Brand Equity Fund' was
established in

(A) 1996
(B) 1997
(C) 1895
(D) 1992

The rate at which banks lend to RBI
is Known as

(A} Bank rate
(B)
(C)
(D)

Repo rate
Reverse Repo rate
Intarest rate

The new share price index
(in dollar value) of Mumbai share

markat is

(A) SENSEX
(B) FOREX
(C) DOLEX
(D) UREX

Oil Refinery at Bhatinda is being
established by

(A} 10C
(B) HPCL
(C)
(D)

Raliance

BPCL

Latest Sarkari Jobs, Govt Exam Results, m
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128,

129.

130.

131.
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NABARD was established in
(A)
=)
(C)
(D)

Fourth plan
Fifth plan
Sixth plan
Eighth plan

Index ‘Residex’ is associated with -
(A)
(B)
(C)
(D)

Share prices
Mutual fund prices
Price inflation index

Land prices

Inside Trading is related to
(A) Share market

(B} Horse racing

(C) Taxation

(D) Public expenditure

It the MRTS « equals 2, then

MPy/MP, is

(A 2 B) 1
.!

© 3 (D) 4

The factor intensity is measured by

o il
(A % B) g
(C) A+B (D) o+p
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NABARD i FTH B
(&) et AT H

(B) ot AT
(C) ! A

(D) yraed] AT H

g mﬂwwﬁmﬁﬂ

(Ay FELHIEH
(B) TS S EE

(CY rgr‘-ugmﬂﬁ;ﬁﬁ
(D) =i o

, ‘m?@'ﬂﬂﬂﬂ?ﬂi
(A) FFAEER

(B) Fret e

(C)

(D) EE T

130, TR MBTS T o wrEL R, T
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132

133.

134,

135,

136,

B

Histogram is used to find
(A]
(B)
(C)
(D)

Mean

Mode

Median

None of these

One of the measure of dispersion
which is maore useful in case oi
open-ended distribufion is

(A) Range

(B) Standard deviation

(C) Mean deviation

(D) Quartile deviation

Larenz curve is a graphic method of
studying

(A) Correlation

(B)
1)
(D)

Index numbers
Averages
Dispersion

How many number of quartiies exist 7

(A} Two (B) Three
(C) Four (D) Five
Which |& often described as
‘baromelers of economic change' 7
(A) Awverage

{B) Correlation

{C) Dispersion

{0} Index numbers

e

138.

139,

140,

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

JDD-20/PGT-ECO /Xgi4

137, Who gave the call for ‘Evergreen

Revolution' ?

(A) M. 8 Swaminathan
(B} A.P.J. Abdul Kalam
{C) Dr. Manmohan Singh
(D) Dr. K.N, Jha

Innovation Lab' has been launched by
(A} Tata Consultancy Services

(8) '
(C)

Infosys Tech.
Reliance Industries

(D) Anil's Reliance Communications

Which Road Transport Corporation
has infroduced AWATAR (Any Where
Any Time Advance Reservation)
Scheme ?

(A} Andhra Pradssh
(B) Kamataka

(C} Tamil Nadu

(D) Maharashtra

Which of the following Corporate
House is developing a port in Mundra
(Gujarat) 7

{A) Adani

(B)
(C)
(D) Birla

Ambani
Goyanka
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132, v (Recimm) w1 Swm T AR | 137, TR oh ST
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(A) = (B) T, FAeEE T
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(©) A 0 FEGR
Vi e ag, ‘AR @ Fﬁﬁwwﬁnﬁiiﬂﬁ
133. mﬂmﬁwa‘lﬁﬁmﬁmﬁ 198 R
v e e, = 8
mﬁﬁiﬁ% (A) 7 AT HiaeE
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141. AfterEuropean Union, which another
group of counirigs have come forward
for adopting common CUIrency ?

(A} OPEC

(B} Gul Couniries
{C) SAARC

(D) ASEAN

142. Hutch-Essar was acquired by
(&) Bharat Airtel
(B) Vodafone
(C) Reliance
(D) Tata mobile

143. 'Pratibha Kiran Yojana' is a new
scheme to promote higher education
among girls introduced by
(A) Karnataka
(8) Bihar
(C) Madhya Pradesn
(D) Uttar Pradesh

144. From 301 June, 2011 many coins
would be demonetized as per RBI
instructions. What would be the
minimurm acceptable denomination of
coing 7
(A) One rupee coins
(B) Fifty paise coins
(C) Two rupee coins
(D) Twenty five paise coins
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Videsh Sanchar Nigam Lid. has been
renamed as

(4} Reliance Sanchar Nigam Lid.
(B) Tata Sanchar Nigam Ltd.

(C} Tata Communication Ltd.

(D) Bharati Communication Ltd.

A country’s offer curve will be straight
lina whan its price alasticity of supply
for exports is :

(A) Infinitely large

(B}  Unity

(C) Zero

(D) Negative

OPEC is an example of the type of
Producer's organisation known as a
(A} Marketing board

(B) Producer's cooperaltive

(C)y Trust

(&) Cartel

R.B.l, was nationalised in
(A) 1859 (B) 1847
(C) 1945 (D) 1949

Increase in net RBI credit for Central
Government represants

(A) Budgstary deficil

(B) Revenue defici

(C) Monetised deficit

(D) Fiscal deficit
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150.

151.

152,

To which community/organisation
maximum goods are exported from
India 7

(A) EEC

(B) Commonwealth Nation

(C) SAFTA

(D) OPEC

‘Focus Product’ and ‘Focus Market'
are the two schemes introduced

refated to

(A) [ndustrial diversification
(B) Technology upgradation
(C) Export promotion

{D) Control of inflation

Which year was declared as
customers satisfaction year by
Railways ?

(A) 2000-01

(B) 2001 -02

(C) 2002 -03

(D) 2003- 04

154,

155.

156,

JDD-20/PGT-ECO fxé"l,d

153. National Rural Development Institute

is situated at

(A) Shimla

(B} Hyderabad
{C) Patna

(D) New Delhi

Maobile Number Portability Service

has been launched nation wide w.e.f,
(A) January 19, 2011
(B) January 20, 2011
(C) January 22, 2011
(D} January 25, 2011

Box diagram was introduced by
(A} F.Y. Edgeworth

(B) Arrow

(C}) A K. Sen

(D}  Marshall

Who suggested that the price of a
factor or production is determined by
the demand and supply forces 7

(A} Marshall and Hicks
(B) Clark and Allen
{C) LUpsey and Samuelson

(DY Jevons and Walras
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Y. Quasi-rent ig 161. The sSecondary securities are the
(A) Price - ave financial claims issyed by the

- (A)  Financial Institutions
(C} Price - ATC (C) RB.
(D) Price — MC (D) Stock Exchangs
_ . 162 Maintaining a cash Tesarve ratio of

158.  Which of the following would not be 20% with primary deposits of

considered g near-money ? Rs.1.000, the total derivative deposits

Created by banks would be

Al Ti '

(A)  Time deposits (A} 25 goo

(B} Saving and joan shares (B) T1.000

{C) Treasury bills (C) T4,000

(D) Demand deposits (D) None of these

183. The word budget’ has beer derived

158, An active deposit is ona jn which the from
nitiative lies with (A) Grask (B) Latin
(A} The Bank (C) Franch (D) German
(B) The Depositar 1864. ‘The veil of money' indicate that

(&) Money is only |ubricant, enabling
(€} The Government the economic machine to funetion
(D) The Ceritral Bank continuously and smaothly, which.
Cannot affect the real variable

180.  Keynes terms ‘active balances’ as the (B) Moneyisa lubricant that helps the
smooth functioning of the economy.

maney hald for
and affects reg| variables

(A) The speculative motive on
h‘" (€} Monayis a lubricant that helps the

smoath functicning of the ecanomy
precautionary motives which affects both the rea ans
(C) The transactions motive anly money variables

(B} The tran sactions and

(D) The Precautionary motive only {2} None of the above
A 36~
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et (SR 2
(8) AW~ AVL
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164,
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167,

In collugive oligopoly for joint profit 168,

maximisation

[A) The highes! cost firm makes the
highest profit

(B) The lowest cost firm makes the
highest profit

169,

(G} The lowest cost firm produces the

largest output
(D) None of the above

Each seller determines his price on
the assumption that his rival will Keep

his price constant, under
170.
(A} Bertrand's modal
(B} Samuelson's modal
{C) Edgeworth modal
(D} Price leadershig

b P
The valldity of kinked demand

CUrve was empirically tested and

questioned by

(A) D.S. Watson
(B) Hall and Hitch
(C) G.dJ. Stigler
(D) F, Mackiap
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An ethical or valye Judgement must
be made in order 1o derive the
(A)  Transtormation curve

(B) Grand utility possibility

(&) Consumption contract curve
(D) Soclal welfare function

Which of the following State became
the first State to introduce Public
Service Guarantes Act 2010 7

(A) Madhya Pradesh
(B} Gujarat

{C) Bihar

(B} Haryana

What is ‘Super 301' 7

(A) A name of modarn computer
(B) A new variety of rice

[C)  American trade law

(B} American treatment name for AlIDS

Wages paid to Mahatma Gandhi
National Rural EmploymentGuarantee
Scheme has now been linked with

(A) Wholesale Price Index

(B) Consumer Price Index for -
Agricultural Labour

(C) Consumer Price Index for
Industrial Labour

(D) Food Inflation
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172 Which Department of the Government | 176. The headquarters of SIDBI is in

has completed its 150 years in 20107 (A) Lucknow
(A) Income Tax (B New Delhi
(B) Customs Excise Duty (C) Mumbai

(C} Post and Telegraph (D) Bengaluru

(D} Television and Broadcasting ‘
177. Which is credit rating agency in India 7

173.  Whichconstitutes the maximum share

(A} CRISIL
in power generation 7 Bl CARE
(A} Thermal power B e
g Lol (D) All of these
(C) Atornic power
(D) All the above have equal 178. 20 Rupeeand above value notes are
printed in
174. The Committee associated with b i b
:;a H;%Ti:zirﬁﬂmm“gﬂmﬁ (B} Bank Note Press, Dewas
(B) M. Narsimhan (C) Security Printing Press,
(C} S:.N.Jha Hyderabad

All of these
(D) R. Janakiraman (D) of

of the following is not a
175, Consumet Protection Act (COPRA) | 179 Which g

was implemented In financial regulatar ?
(A) 1885 (A) IRDA
(B) 1886 (B} PFRDA
{C) 1987 (C} AMFI
(D) 1588 (D) SEBI
A= 40~
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175

IR & w3 2010 F {50 94 176.

ol o 7

(A) 37 5

(B) =tz mFEES =
(C) TRz ainag

(D) 2 shwmem

et Zvame 1 e foeen v 2
(A) =i fom

(B) vl

(C) e foge

(D) =t ot =y e oy &

177.

I AR ST F wew | 178
aufa

(A) 0, . ST
(B) v, Tl
(C) ©R. w, &

(D) ¥, S

ST Heav Fam (COPRA) =8 o
Sl

(A} 1985

(B)
(C)
(D]

179,

1986
1987
1988
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Which country has the maximum
broadband subscribers in the world 7
(A) USA
(B} China
(€
(o)

Japan

France

SITTDEC - 'South Investment Trade
and Technology Data Exchange
Centre' is a scheme of

(A) SAARC
(B) ASIAN
C) G7
(D) G-15

Indian Banks have the maximum

foreign branches in
(A) Bangladesh
(B} UK,

IC) U.S.A,

(D) Sr Lanka

Which bank in India became the first
bank to open its branch in China ?

(A) I|DBI Bank

(B} HDFC Bank

(C) State Bank of India
(D) Punjab National Bank

Latest Sarkari Jobs, Govt Exam Results,
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184, Which rural sector Is not included in

185,

186.

187.

Vacancies and updates on one click

'Bharat Nirman Yolana' ?
Irrigation

Waler supply
Education
Telephone

‘Golden Handshake Scheme' is
associated with

(A)
(B)

Inviting Foreign Companies
Private investment in public
entarprises

(C)
(D)

Establishing joint enterprises
Voluntary retirement

First Export Promotion Zone (EPZ) in
private sector was established at

(A) Kandla

(B} Vishakhapatanam
(C} Nopida
(D) Surat

Which one of the following measures
has not been adopted in recent d&'f_-,rs
by RBI for conirolling credit in India ?
(A) Cash Deposit Ratio

(B) Capital Adeguacy Ratio

(C)
(D)

Cash Reserve Ratio
Statutory Liquidity Ratio
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The maximum labour-ariented
industry in india is

(A} Cement industry

(B) Iron and steel Industry

(C) . Jute industry

(D) Cotton industry

What Is the ascending order of
Introducing following mentioned
programmes ?

1. DPAP

2. JRY

3. IRDP

4. MNP

(A) 1,43 2

(B) 4,3,21

(C) 1,23 4

(B) 4.3 1 2

A 'refrigerator’ operating in a

chemist's shop is an example of
(A)  Intermediate good

(B) Final good

(C} Producer's good

(¥} Consumer's good

Latest Sarkari Jobs, Govt Exam Results,
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In Marrod modal

{A) I the actual growth rate is higher
than the warranted growth rato,

there will be inflation

\B) If the actual growth rate |s highar
than the warranted growth rate
there will be deflation

(C)  The aconomy will be in equilibrium
when actual and warranted growth

raies are equal

(D) Higher growih rateis COnseguanco
of economising on labour

A number of indivisibllities hindar
the process of economic growth in
the initlal stages. This view was
enunciated by

{A) R. Nurkse

(B) H.W, Singer

(C) R. N. Rosenstain Rodan

(D) W. W. Rosiow

‘BAPTA' Is related 1o
(A) Education

{B] Trade

(C) Security

(D] Environment
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TEK.

(p) FamETam
(B) T W T 3=
(C) =ge3am

(D] =T= 3

=7 e IRE W = S F
e 7

1. DPAP

2. JRY

3. IADP

4. MNP

(A) 1,432

(B) 4321

(C) 1,234

0y 4312

v #AE F ogEE T Iugh wETE
it guE v SRR R

(A sl are

(B) 3T 7o

(C) IFme &1 O

(D) TR AA
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184. Information Technology Act in Indig 188. Hick's neutral technical change

was introduced in the yvear implies that

(A) 2000

(83004 (A) the unit isoquant undergoes a
5 e parallel shift upwards

(D) (B} the unit isoquant undergoes a

parallel shift downwards

195. Which of the 'fﬂltﬂW'ﬂﬂ group has (C) curvalure of the unit isoquant

changes

(D) none of the above

brought and acquired the controlling
stake in Ispat Industries 7

(A} Tata Steeis

B) Arcelor-Mittal
(B) Steels 199. The two-gap theory as applied to

(C} J.S.W Steels development planning refers to

(D) None of the above .
(A) Inflationary gap and investment

196. Demand creates its own supply is gap
advocated by (B) Saving gap and deflationary gap
(A} Marshall (C) Foreign exchange gap
(B) J.B.Say (D) Saving constraint and foreign
(C) Keynes
s exchange constraint
197. India's first export promaotion zone to g s PR B n b
be declared a free trade zone is MersUrsd by ey
(A} Santacruz (A):Madin
(B) Kandla (B) Mean deviation
{C) Moida (C) Standard deviation
(D} Falta (D) Lorenz curve
A+ ~46-
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